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SN slsR sEXNR
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Hu: =0)|2PE U P50 84
o9 SEXE JI5Ys U SRS (o @)
SA -3 - A(3) - MISA - Bd Off &K N3 HnsZ
S)|EY SEXNR 48,747,315 47,063,415 1,683,900
2 19,436, 147 19,815,847 A379,700
2 5,645,000 5,770,000 125,000
p 6,200 6,200 0
oy 3,800,000 3,800,000 0
< 19,859,968 17,671,368 2,188,600
YIIEES L M2 54 47,759,2% 46,937,325 81,970
2 19,436, 147 19,815,847 A379,700
= 5,645,000 5,770,000 125,000
p 6,200 6,200 0
iy 3,800,000 3,800,000 0
= 18,871,948 17,545,278 1,326,670
SEXE JI5Ys L sHoASY 13,487,494 11,768,29% 1,719,200
2 1,246,158 947,358 298,800
= 4,800,000 4,995,000 125,000
oy 800,000 800,000 0
= 6,641,336 5,005,9% 1,545,400
sopzd SENSC JIHEE(T) 550,000 800,000 250,000
= 275,000 400,000 125,000
= 275,000 400,000 A125,000
401 AIEHIZ 2B 550,000 800,000 250,000
= 275,000 400,000 125,000
= 275,000 400,000 125,000
01 A&t 550,000 800,000 250,000
OBEXTI|BEN 550,000 800,000 250,000
= 275,000 400,000 125,000
= 275,000 400,000 125,000
NEZ2H M2y A () 93,800 99,800 6,000
= 46,900 49,900 3,000
= 46,900 49,900 3,000
201 Lst2 | 19,600 22,000 2,400
2 9,800 11,000 A1,200
= 9,800 11,000 A1,200
01 AR 22l 19,600 22,000 2,400
OXNETL A2l us 19,600 22,000 2,400
2 9,800 11,000 A1,200
= 9,800 11,000 A1,200
202 01| 74,200 77,800 3,600
= 37,100 38,900 A1,800
= 37,100 38,900 A1,800
03 22/ H 201t 7,200 10,800 3,600
OSEXT222 HAS(NLNSUE) 7,200 10,800 3,600
=2 3,600 5,400 A1,800




2M: s2)|a8 sEXKA=Z
M =9)|223 2 2520 |4
EGel: SEXE Jlsdst ¥ sHoEss (CHe) &)
M- - SA(3) - MRAY - BES Oi AteH J| ¥ o HnszZ
| [ 3,600 5,400 A1,800
NE2R2 M2SASATA(AZEY) 159,462 156,762 2,700
= 106,308 104,508 1,800
[ 53,154 52,254 900
308 XHXISHHIS0IH 159,462 156,762 2,700
= 106,308 104,508 1,800
[ 53,154 52,254 900
01 RXISHHBAEES 159,462 156,762 2,700
SEXNC22 A (NLXSHA) 39,837 37,137 2,700
= 26,558 24,758 1,800
[ 13,279 12,379 900
=Qlol sty |4 1,242,130 1,009,630 232,500
307 eIZHol ™ 427,260 222,260 205,000
02 DIZHHAAIA B X 323,260 118,260 205,000
OR4 =20 |4 29| A5} 205,000 0 205,000
308 XHXISHHS0IH 685,870 673,370 12,500
01 AIXSHBAEERZ 685,870 673,370 12,500
SE014 2K HEF FAYE XA 12,500 0 12,500
403 RHXISHHIS RH2 0| & 121,000 106,000 15,000
01 RXISHHIRH 2 2 = 121,000 106,000 15,000
OSEXCK PLS S 2R A5 Al 15,000 0 15,000
HAsool |4 1,051,127 1,011,127 40,000
307 eIZHol ™ 122,500 82,500 40,000
04 DIZFHAIAI B X 107,200 67,200 40,000
OBEYT 4H OrAH3 40,000 0 40,000
ZUS ANEDT AMZSD HHPE 3,000,000 1,600,000 1,400,000
CH 800,000 800,000 0
[ 2,200,000 800,000 1,400,000
403 RHXISHHIS RH=2 0| & 3,000,000 1,600,000 1,400,000
o 800,000 800,000 0
[ 2,200,000 800,000 1,400,000
01 RXISHHIR 2 2 = 3,000,000 1,600,000 1,400,000
OZYS ADNET AIZED HHRS 3,000,000 1,600,000 1,400,000
o 800,000 800,000 0
[ 2,200,000 800,000 1,400,000
HEASA0 HAAMSANSE =4 300,000 0 300,000
= 300,000 0 300,000
403 RFXISHHIS RH=2 0| & 300,000 0 300,000
= 300,000 0 300,000
01 REXISHHI R = 2 = 300,000 0 300,000
OFUE=0 AHAS AUSHE =4 300,000 0 300,000
= 300,000 0 300,000




SN sla8 SEXER
DI s)zEE ¥ MRSl 84
SRl @EY DEE O sEM2 MMDlE 23 (crol: @)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
AEY DBH OF SENS MM 22 23,200,647 24,832,647 1,632,000
2 14,318,550 16,245,550 £927,000
| 6,200 6.200 0
= 8,875,897 9,580,807 AT05,000
=9 ADIZ AlE 5,788,000 5,623,000 170,000
2 5,793,000 5,623,000 170,000
403 XHXI EHAI S K01 & 5,793,000 5,623,000 170,000
2 5,793,000 5,623,000 170,000
01 XX SH =R 5,793,000 5,623,000 170,000
Osg AJlE AlY 5,793,000 5,623,000 170,000
2 5,793,000 5,623,000 170,000
THAHCHS DI= X2 628, 150 613, 150 15,000
403 XHXI SIS XH2 0| & 271,500 256,50 15,000
01 XX SH =R = 271,500 256,500 15,000
OIS IT L0 JIENY ST 15,000 0 15,000
DS HolE FUAAY () 1,000,000 1,000,000 0
2 500,000 500,000 0
= 500,000 500,000 0
206 TH2 6| 20,000 0 20,000
2 10,000 0 10,000
= 10,000 0 10,000
o1 MEH| 20,000 0 20,000
ODFIE HHS NUNSAALY S |
2 20,000 0 20,000
2 10,000 0 10,000
= 0,000 0 10,000
405 XpoHE St 480,000 500,000 £20,000
2 240,000 250,000 A10,000
= 240,000 250,000 A10,000
01 LSS FSH] 480,000 500,000 220,000
ODFE Yl s FLNSAAY FHI7S 480,000 500,000 £20,000
2 240,000 250,000 A10,000
= 240,000 250,000 A10,000
ADEN AYSH M )SXE 2,109,030 1,839,030 270,000
308 XXIEHHISOIH 471,000 423,000 48,000
O KX SHBAEES 471,000 423,000 48,000
OBIOIST &2 SRS SN 22N
Y 30,000 0 30,000
OYME MK E AT B2 JI&X
2 ZZAY 18,000 0 18,000
403 XX SIS KHE=0I & 1,630,380 1,408,380 222,000
01 XX SR = 1,630,380 1,408,380 222,000




SN sla8 SEXER
B SRS ¥ WYl S4
o9 WBY DB OF SENE MD|E 23 (crol: @)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
OMLSHS(DELW0I) Hih IS =2
NE 90,000 0 90,000
OIS M2t WHHAIAL JIENS ST
= 27,000 0 27,000
OYBO0| MBS St J[BIEY JISXY =
DAY 60,000 0 60,000
OAIEEI0| ANESY BN JIST
ST 45,000 0 45,000
ADIESY HAEHS REY =4 103,000 0 103,000
2 103,000 0 103,000
403 XHXI RIS RH20I & 103,000 0 103,000
2 103,000 0 103,000
01 XX SRR S 103,000 0 103,000
OANIESY HAEHE DS ZH(AT) 103,000 0 103,000
3 103,000 0 103,000
SUS BRDIHY 0NN BY )SES 612,120 402,120 210,000
403 XHXI A S K01 ® 612,120 402,120 210,000
01 KHXIEtH X2 612,120 402,120 210,000
OSHAF HHHEZ It JISX S STAS 30,000 0 30,000
Of Ba2 288 812 AZS JIBNE 5
T AreS 180,000 0 180,000
BANASLNBME 75 0 2,400,000 £2,400,000
2 0 1,200,000 A1,200,000
= 0 1,200,000 A1,200,000
401 A&HIL = THY| 0 2,323,640 £2,323,640
2 0 1,161,820 A1,161,820
= 0 1,161,820 A1,161,820
01 Al&t] 0 2,288,840 2,288,840
OBLNVSSXAME 25 AL 0 2,288,840 £2,288,840
2 0 1,144,420 A1,144,420
= 0 1,144,420 A1,144,420
02 22| 0 26,160 £26,160
OBENLSSNAME 25 22| 0 26,160 £26,160
2 0 13,080 A13,080
= 0 13,080 13,080
03 Al R CH| 0 8,640 8,640
OBLNLSHXVHE 75 AL20Y| 0 8,640 8,640
2 0 4,320 £4,320
= 0 4,320 £4,320
405 XpoHE St 0 76,360 AT76,360
2 0 38,180 £38,180
= 0 38,180 A38,180
01 XYL S SH] 0 76.360 AT76,360
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A s)I=d sEXNE=
M sglI=Es ¥ dEsYe 84
&Pl s & SAHHIIA W= (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
401 AIEBIZL 20HY 3,000,000 3,000,000 0
cH 3,000,000 3,000,000 0
01 Al&HI 2,970,000 3,000,000 /30,000
OsYs MU & ANEE WKE 2HE Al
=1al 2,970,000 3,000,000 A30,000
H 2,970,000 3,000,000 /30,000
02 22l 30,000 0 30,000
OsYs 34 & ANER USE 2HEy 2
el 30,000 0 30,000
cH 30,000 0 30,000
s - HE X 185,827 85,832 99,995
201 LEH2 | 50,000 17,505 32,495
03 A2 50,000 17,505 32,4%
OAsHELSS &It 50,000 17,505 32,4%
308 XXM SOOI 135,827 68,327 67,500
01 AXISHHBAELS 135,827 68,327 67,500
OFsHESH2 XNE At 22,500 0 22,500
OuitI A= SsHEASE 29 AIHAIY 45,000 0 45,000
ZAg SERX XZE 1,645,650 1,497,875 147,775
= 1,431,000 1,302,500 128,500
< 214,650 195,375 19,275
308 XXM E0IH 1,645,650 1,497,875 147,775
= 1,431,000 1,302,500 128,500
< 214,650 195,375 19,275
01 AXHHBAELS 1,645,650 1,497,875 147,775
OAsHE FXAE At 1,645,650 1,497,875 147,775
= 1,431,000 1,302,500 128,500
< 214,650 195,375 19,275
HREs(s2)=8 sE=XE=) 855,000 0 855,000
BENE (Y022 sEXE3) 855,000 0 855,000
SNExZ gEag 855,000 0 855,000
802 Btet=z DI Et 855,000 0 855,000
01 = NExZete=a 855,000 0 855,000
O=318x3 Btetzg 855,000 0 855,000
HY2HZH(sLI=R =sE=NER) 133,020 126,090 6,930
ll2dtl(sYl =8 =EXE=) 133,020 126,090 6,930
Jl2gdtl(sglIsd s&EX2=) 133,020 126,090 6,930
201 2= 58,140 55,080 3,060
01 AtR2telt] 58,140 55,080 3,060
O=sZEXNdYgRF 58,140 55,080 3,060
202 04l 58,140 55,080 3,060
01 204l 58,140 55,080 3,060




SN slsR =EXR
M AN (SIS SENAD)
o9l J12PH| (521 SENHR) (cHol: 22)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
Os=NALLF 58, 140 55,080 3,060
203 R =ZI| 16,740 15,930 810
e RS 10,800 9,99 810
0JIEE3H 2,700 1,890 810




